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10000 - !
- | --X--RFQ_A y =m2*exp(-2.03575e3/2/m1*(m0-m3))
b | & I5—
) m1 3599.5 5.2469
" m2 381.27 1.6395e+7
T m3 317.54 1.4867e+5
X HhA2F 158.63 NA
1000 + e R 0.99999 NA
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D3:y =m2*exp(-2.03575e3/2/m1*(m0-m3))

10000
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1000 -

f& I>—
m1 28859 7.7589
m2 3376.1 1.2942e+7
m3 333.19 1.0837e+5
hA 2% 398.64 NA
R 1 NA

D2:y =m2*exp(-2.03575e3/2/m1*(m0-m3))
& I5—
m1 24785 14.953
m2 3404.4 4.1523e+7
m3 332.61 2.9597e+5
h4 2% 1772 NA
R 0.99999 NA

1 OO ] D1:y=m2*exp(-2.03575e3/2/m1*(m0-m3)) N . : _U&%
& To— i . T
[ m1 22698 15.817 T .
i m2 3245 9.2232e+7 R
L m3 331.64 6.3146e+5 .
ha2F 1854.7 NA
10 | R 0.99999 NALLL L
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10000 - ‘
= S1_A S1A: y = m2*exp(-2.03575e3/2/m1*(m0-m3))
L — 3] _B & I5—
m1 12203 12.434
r m2 3107.5 5.6046e+7
ey m3 330.36 2.1473e+5
1000 e hA 2% 1173.8 NA
.. R 0.99999 NA
L -‘\,
|- ‘\'\
e
100 - .
F *“‘ i
[l S1A:y=m2*exp(-2.03575e3/2/m1*(m0-m3)) .
10 | = o= .
H m1 11157 8.5729
m2 3110.1 4.0313e+7
L m3 330.36 1.4107e+5
hA 2% 619.55
R 0.99999
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i S2_A S2A:y = m2*exp(-2.03575e3/2/m1*(m0-m3))
——S2 B & I5—
r m1 14550 8.1154
m2 3086.8 2.244e+7
\\\ m3 330.35 1.0332e+5
hA 2% 402.85 NA
1000 - \\ R 1 NA
< \\
| N,
(QV] .
wn S,
100 faay
S2B:y = m2*exp(-2.03575e3/2/m1*(m0-m3)) T
0 T X
m1 14180 5.8311
m2 3073.9 2.9169%e+7
m3 330.3 1.3147e+5
hA 2% 210.72 NA
1 O R 1 NA I | T L L
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10000 : : : ‘ : : 10000 ¢
Pl - oo S3_A S3B: y = m2*exp(-2.03575e3/2/m1*(m0-m3)) N S4_A S4Aty = m2*exp(-2.03575e3/2/m1*(m0-m3))
- | ——s3_B [ I5- | —— S4B [ I5—
m1 15137 6.2243 r m1 16765 5.7382
RN m2 3518.8 8.657e+7 \ m2 3226.9 1.8948e+7
e m3 331.82 3.6384e+5 - m3 330.96 96226
~3 NA 2% 358.49 NA nA 2% 200.68 NA
1000 - R 1 NA 1000 - R 1 NA
. ~ . H
‘k. A <| \
I N < ] \\
IS . (Vp]
S3Aty = m2*exp(-2.03575e3/2/m1*(m0-m3)) RO 100 [ 548y = mzvexp(:2.0357503/2/m1*(m0-m3)) \\\\
[ I5- N . - — \
m1 12812 10.088 N > i — 6960 core
me 35027 4833647 EC N [ m2 3207.7 2.2587e+7
m3 331.65 1.7255e+5 e s o 309 egiess
nazR 11399 hA i ndA 2% 199.31 NA
R 0.99999 NA . - 1 A
'IU [ I I 10
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1 OOOO - 1 OOOO i S6B: y = m2*exp(-2.03575e3/2/m1*(m0-m3)) ||
o S5 A S5B:y = m2*exp(-2.03575e3/2/m1*(m0-m3)) o S6_A & I5—
[ S5_B f& I3-—- | ——5s6_B m1 17332 37.144
| mi1 18660 24.721 m2 3534.8 5.5004e+8
\ m2 3454.3 1.0022e+8 - ., m3 332.1 2.6368e+6
. m3 331.93 5.2946e+5 . TNy nA 2% 9211.5 NA
‘\\ hA 2% 4344 NA o =~ R 0.99993 NA
1000 - . R 0.99997 NA 1000 - 3
L -~ F e
< i e
| s | I e
| o - (<o) >,
| e . (V] -
., . T N B
1 OO - S5A: y = m2*exp(-2.03575e3/2/m1*(m0-m3)) - 1 00 | S6A:y=m2*exp(-2.03575e3/2/m1*(m0-m3)) Ta st
i 1 T5- e : & T5- -
[ m1 17193 10.678 - m1 15456 9.9066
- m2 3463.8 4.3019e+7 r m2 3502.8 2.7196e+7
r m3 331.82 2.0875e+5 i m3 331.8 1.1725e+5
- hA2F 816.68 NA r hA 2% 733.54 NA
R 0.99999 NA R 0.99999 NA
10 \ \ t 10 e —
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S7B:y = m2*exp(-2.03575€3/2/m1*(m0-m3))
————— S7_A = s
S7_B mi 17513 10.974

2 m2 3249.4 3.1418e+7
\ m3 331.1 1.6556e+5
\ nA2® 704.29 NA

. R 0.99999 NA

S7A:y =m2*exp(-2.03575e3/2/m1*(m0-m3))
& I5—
m1 16968 10.07
m2 3255.8 3.5462e+7
m3 331.07 1.8067e+5
hA 2% 618.02 NA
R 0.99999 NA
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S S8_A S8B:y = m2*exp(-2.03575e3/2/m1*(m0-m3))
| ——S8_B fi& I5—
L m1 17329 14.669
m2 3377.6 5.6463e+7
m3 331.66 2.8322e+5
\\ NA2% 941.43 NA
| Y R 0.99999 NA
Y
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o 1000 ! s
(V] F N
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L N
S8A:y = m2*exp(-2.03575e3/2/m1*(m0-m3)) ) \.\
& I5— ‘«,\
m1 16169 9.9825 te
m2 3388 9.79+7 N
m3 331.56 4.57e+5 .
hA 2% 478.35 NA b
R 1.0 NA .
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10000 . : S9B: y = m2*exp(-2.03575€3/2/m1*(m0-m3)) 10000 - : S10B: y - m2*exp(-2.03575¢3/2/m1*(m0-m3)) ||
s S9_A f& o= f----- ST10_A & 35—
F| ——S9_B m1 15155 68.916 Frf——S10_B m1 16446 14.04
| m2 3422.2 2.195e+8 m2 3245.2 6.3847e+7
\ m3 331.59 9.4969e+5 \ m3 331 3.1625e+5
r ha 2% 25537 NA | hA 2% 1252.2 NA
R 0.99974 NA R 0.99999 NA
1000 | : 1000
7 N < ,
I B I I
S o <
L fx\x\ — r
TS wm
100 Fll S9A:y =m2*exp(-2.03575€3/2/m1*(m0-m3)) I 100 " [ s10A: y = m2*exp(-2.03575e3/2/m1*(m0-m3)) Y <
F I IS5 L r & To— RN
i mi 14589 63.306 i m 16255 13.732 D>
| m2 3424.6 2.8755e+8 L m2 3234.6 7.281e+7
m3 331.54 1.1965e+6 m3 330.96 3.5767e+5
hA 2% 22550 NA hA 2% 1200.3 NA
R 0.99977 NA R 0.99999 NA
10 10 -
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1 OOOO ‘ ‘ S11B:y = m2*exp(-2.03575e3/2/m1*(m0-m3))
] --e-- S11_A & I5—
|l ——s11 8B m1 18915 19.026
L m2 3167.1 6.024e+7
m3 330.92 3.5189+5
L ha2& 1718.2 NA
R 0.99998 NA
1000
r <EI
\\ ~
-~ % -
N w
100 | S11A'y = m2*exp(-2.03575e3/2/m1*(m0-m3)) %}‘
¥ @ T5— :
L m1 18535 9.6604
r m2 3173.6 5.3089e+7
r m3 330.91 3.0324e+5
r hA2F 456.3 NA
R 1 NA
10 P—— r——] LT T —— M L L
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10000 ¢ ‘ S12B:y = m2*exp(-2.03575e3/2/m1*m0-m3)) |
- S12_A fi I5-
——S12_B m1 16608 72.626
m2 3229.5 2.1932e+8
T m3 330.99 1.1025e+6
Ty hA 2% 27891 NA
JERS R 0.99973 NA
1000 | g
\.\‘
e
100 - S12A:y = m2*exp(-2.03575e3/2/m1*(m0-m3)) : k ¥
& Io- el
m1 15667 40.181
m2 3152.6 1.9847¢+8
m3 330.64 9.6376e+5
nA 2% 8407.4 NA
10 R 0.99991 NA
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1 OOOO - S13B:y = m2*exp(-2.03575e3/2/m1*(m0-m3)) 1 OOOO L S14B: y = m2*exp(-2.03575€3/2/m1*(m0-m3))
| ——s13_A fi o= 0 I5—
| ——S13_B m1 17357 8.5176 mi 20437 6.3506
L m2 3362.2 2.3036e+7 m2 3443.5 2.0583e+7
r \ m3 331.48 1.1627e+5 m3 332.13 11952645
hA 2% 415.07 NA P 21131 NA
\ R ! NA R 1 NA
1000 - N
< : N\ N it
I i < 1000 -
o [ \ — k .
— H (Vp)] r )
‘IOO - y = m2*exp(-2.03575e3/2/m1*(m0-m3)) T S14A:y = m2*exp(-2.03575e3/2/m1*(m0-m3)) “
L & I>— & I>—
[ m1 16350 7.3864 m1 18751 53.437
r m2 3366 3.0905e+7 m2 3442.2 2.3903e+8
[ m3 331.41 1.4672e+5 m3 331.95 1.2735e+6
F ha 2% 324.19 NA hA 2% 15040 NA
R 1 NA R 0.99988 NA :
‘]O ] PR I R R R B L 1OJ :
320 330 340 350 360 370 380 390 400 330 340 350 360 370 380 390

T (us) T (us)




S15_A

07041 2H_Z=RiRIE

S-15

10000 - ; ‘
[ y =m2*exp(-2.03575e3/2/m1*(m0-m3))
: f S15_A o TS
L S15_8 m1 16897 11.735
m2 3232.6 4.0468e+7
\ m3 331.57 2.0678e+5
N RN HhA2F 677.74 NA
1000 I N R 0.99999 NA
1 00 :7 y =m2*exp(-2.03575e3/2/m1*(m0-m3)) NN R =
i & I5- )
F m1 15409 24.04
| m2 3207.9 7.8721e+7
| m3 331.41 3.6947e+5
HnA2% 2850.7 NA
R 0.99997 NA
1 O | | I i i
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10000 : ‘ ‘ ‘ .
r --X--DEB1 DB2:y = m2*exp(-2.03575e3/2/m1*(m0-m3))
% DEB2 & I5—
[ m1 7249.3 3.1964
[ m2 3383.7 4.751e+7
1 000 i m3 331.42 98839
F h4a42% 116.67 NA
R 1 NA
’ ke
100 -
F X
[ DB1:y =m2*exp(-2.03575€3/2/m1*(m0-m3))
10 - & I5—
r m1 7913.6 68.67
r m2 3274.8 1.1925e+9
S m3 330.97 2.8012e+6
r h4aA 2% 25957 NA
1 R 0.99954 NA
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